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Note : This paper is of seventy (70) marks containing
three (3) sections. Learners are required to attempt
the questions contained in these sections according
to the detailed instructions given therein.

T Y8 Y UF TR (70) 3idi BT 7 S A9 (03) WS
4 o & | Rl &1 g9 @vel ¥ Ry Ty
foega el & offaR & WAl & SR o g |

Section—-A / Gls—d
(Long Answer Type Questions) / (€78 IT<II T2
Note : Section ‘A’ contains four (04) long answer type

questions of fifteen (15) marks each. Learners are
required to answer two (02) questions only.

T Wue ‘P H AR (04) dF ST W ¥ W E|
TG Y B fov TwE (15) o fuiRa 2
RIeRid &1 e | dad a1 (02) Tl & IR o
gl

1. Explain the main issue of establishment of Industrial

Units.

deEfie geEal o WM & g 45 @
NEEIEIN
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2. What do you understand by the Public Liability Act,
19917

A IR AR, 1991 | M9 T 9 © ?

3. Clarify legal duties and legal remedies in protection of
environment.

TReT AR H faffde TR vd fafde SR @
W DI |

4. Explain in short the direct foreign investment and
NRI’s investment in foreign countries.

focell yoer fowr &R emard 9RdEl @ fagwi #
fyder @1 deav # THeEy |

Section-B / Yrs—g
(Short Answer Type Questions) / (eTg] ITRIF U%)

Note : Section ‘B’ contains eight (08) short answer type
questions of five (05) marks each. Learners are
required to answer six (06) questions only. Answer
of these questions must be restricted to two hundred
fifty (250) words approximately.

dlc: Tue ‘@ H e (08) Y SN U f3¥ W B
TG Y & forg Ui (5) oiw fwifRa 1 Ruenfiat
P 3T W BIA B (06) TN B SR o B | ISP
TS B IR o WA TAN (250) Ukl W AE TEI
GRIRCIE

Briefly discuss any four (04) of the following.

frfoead o & foegl IR (04) T=Al & SR QI |

1. What is the Essential Commodities Act ? Explain.
AMaead o I 1 2 ? qHEEy |
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Discuss in brief the Industrial Policy, 1956.
aenfire N, 1956 &1 wfera faaxer S |

What do you understand by Consumerism ? Explain.

SUNGETE ¥ 3T T JHe & ? 9ISy |

What is Foreign Investment Policy ? Discuss.

feel feraer <Aifa @ar & ? e #ifon |

What are the objectives of technology transfer in India ?

YR | dheild 3RO & ST o & ?

What are the types of Industrial Management ?
Explain.

MNENS Y & YHR a7 & ? 9Ny |

What is the main purpose of the Competition Act,
2002.

yforeert SR, 2002 & G ST R E ?

What do you understand by market-oriented economy ?
JOIRIE SifraRe 9§ 39 7 T © ?

Section-C / YUs—1]

(Objective Type Questions) / (¥ J+)

Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this section are compulsory.

P.T.O.
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dlc . @ue v H <9 (10) TS T A W E | Ie

7o @ forv 1 (01) 3w FufRa 21 39 @vs & o
ge ffarf B

Indicate whether the following statements are True or False.

3T I 6 f=forRad wom 9 & a1 3T |

1.

A-2

The Indian Government has allowed 100% FDI in all
sector. (True/False)

IRT WEHR gRT I &= ¥ 100 ufawrd fagel fder
P AR IR B B (1 / 37c)

India has opened its doors of almost all industries to
private companies. (True/False)

WRA A 3O A | IE & gR el dRfl
2 @i faar | GRVACER)
India’s road network is the second largest in the world.

(True/False)
RA H TS BT s fded H TR G 99 URIGH
W 2 (A / )

Full name of TRAI is Telecom Regulatory
Communication Authority. (True/False)

Sl &1 P M Cellbd Weled] HREAGI JATIRE
gl SRVENR)
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The time limit for setting aside the arbitral award is 90

days. (True/False)
AR UAIC Bl AU ax B 9Hd AT 90 fad
g (A / 31)

Choose the correct alternative.

el fddmey &1 Tgq HIfoTU |

6.

A-2

The Industries were classified in ............. under the
Industrial Policy Resolution, 1956 shift.

(@) Four categories
(b) Three categories
(c) Two categories
(d) One category

3ienfie Hifd Ao, 1956 @ i e Bl
oy # fova foar |

@) =W

(@

(@)

@ w

Foreign Investment is not allowed in :

(a) Railways

(b) Telecommunication
(c) Policy Making

(d) Defence

P.T.O.
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frfoRad # 9 forg & # facel faer ot orgefa 78
g ?

(@) Yord

(@) TEER

(@) g SR

(]) wem

For a patent to be benefited from legal protection, it
must have :

(@ A scientific application

(b) Industrial application

(c) Market potential

(d) All of the above

UCC B BT WU W AWM W IR B ol
A ¢

@) e smR

(@ ol smR

(|) 9OIR @ &Har

(@) Swad

Whether a company is a citizen ?
(@ Yes

(b) No

(c) Only in certain cases

(d) When Court allows

IS BU HEl db U ANNG & ?
(1)
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@) dact o Rufr ¥
(8) 9 ~ITerg 3N <

el

Minimum number of members in a Private Company
is:

(@ Two

(b) Three

(c) Four

(d) Five

U {5l Rl o HEwl &) =AW |l el ©

)

) TR
(@) dm
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